Installation Guide

This procedure is designed as an installation aid. Skilled tradespeople that are familiar with general construction and electrical
installation techniques should perform the installation. Licensed electricians should provide electrical installation connections.
Installations and connections should be done in accordance with all national and local codes and permits. In no way is this
document intended to construe warranty or fithess of use of the products described, nor is it intended to provide safety instruction

for those installing the product.

$ WARNING

Before proceeding with installation or service maintenance of this product.

- Disconnect power to reduce electrical shock risk.
- Review the entire Installation Cuide.

- Inspect this properly packaged product for any damage that may have occurred during transit.
- Verify product application complies with manufacturer design recommendations.

- Verify the availability of necessary tools and incidental material.

- Verify applicable code requirements. Field assembly and installation are subject to acceptance by local inspection authority.
- Appropriate safety equipment to be determined by end user, per applicable safety standards and precautions.

Type-U Yoke Mount

Step 1: Before installation

1) Adjust the angle of 1 rotating shaft according to the result
from simulation software.

2) With a torque of 142Nm, fasten 2 of M12 screws to the
bottom cover of the fixture holder power box and the rotat-
ing shaft of the bracket.

Each scale is 5°

The following tools are used:
Hex socket wrench or supporting special tool;
Wrench size: 10mm opposite side.

D Shaft

@ M12 screws

(@ Bracket
Figure-1

Step &

1) Fix two M10 screws with torque of 81 Nm on the arc-shaped
holes on both sides of the fixture bracket respectively, as
shown in figure-4 & 5.

The following tools are used:
Hex socket wrench or supporting special tool;
Wrench size: Bmm opposite side.

Figure-4 &5

Step 2

1) Fix the M20 screw on the pole of the site, and then adjust
the bracket horizontally and fix according to the result from
the software simulation, and then use the torque force of
685NmM to lock the M20 screw, as shown in Figure-2 & 3.

The following tools are used:
Hex socket wrench or supporting special tool;
Wrench size: 18mm opposite side.

Figure-2&3

Step 4
1) Fasten one end of the safety rope to the hand grip and the
other end to the pole on site, as shown in Figure-6.

Safety rope

Hand grip

Figure-6

Type-A Top Fixed

Step 1: Preparation work before installation :

1) Adjust the Angle of lamp cap and fixed bracket according
to the Angle of software simulation on the ground.

2) Fix the rotating bracket and the fixing bracket with Mié
screws with a special tool and a torque of 350Nm.

The following tools are used:
Hex socket wrench or supporting special tool;
Wrench size: 14mm opposite side.

Fixing bracket

M1é Screw

Rotating bracket

Fi — Bracket
igure-1 mark

2) Adjust the mounting plate angle horizontally according to
the result of software simulation, as shown in Figure-4.

3) Fix the mounting plate and the light pole with two M10
screws with a special tool and a torque of 81INm, as shown in
Figure-5.

- ;
O S ;j ?z/;l ﬁ‘i‘l‘//‘fz
- = b el g
|f I"\ -"r \\
N I _ ) :
-
Figure-4 &5
Step &

Supplement: Fix the fixture body with the mounting plate
using a special tool with a torque of 8INm by using another 2
MI0 screws, as shown in Figure - 8 & 9.

The following tools are used:

Hex socket wrench or supporting special tool;
Wrench size: Bmm opposite side.

Figure-8 & 9

Step 2:

1) Connect the power cable to the wiring terminal of the in-
stallation plate, and use a flat-head screwdriver to tighten
the screws fixing the terminal wire, as shown in Figure-2 & 3.

The following tools are used:

Hex socket wrench or supporting special tool;
Wrench size: Bmm opposite side.

Flat-head screwdriver: 3mm wide.

Terminal
. S screw/._: T [_-I,_\ :
Power line v i B
i [ e |
| ==
Terminal W LT \ | /
- b= e o

Mounting plate

Figure-2&3

Step 3

1) Fix the fixture body and mounting plate with 2 MI10 screws
using a special tool with a torque of 8INm.

Supplement: Then fix the lamp cap with the mounting plate
using a special tool with a torque of 8INm using another 2
MI10 screws. Figure - 8 & 9.

Mounting plate

2
MI0 screw "

Figure-6 &7

Step 4

Fasten the hand grip with the safety rope, and fasten the
another end of the safety rope to an appropriate position
on the pole or bar, as shown in Figure-10.

- Safety rope

Hand grip

Figure-10

IMS Series Installation Guide

*Due to the constant improvements in product development, individual parameters might change. Please refer to our sales or R&D team for most up-to-date content as

specifications are sulbject to change without notice.

wally@aokledlight.com
+1 626-986-4050 {US)
+86 755 2357 9148 (CN)

@2021 ACK LED LIGHT CQ., LTD. All Right Reserved. Coaaley, Homesty, Sevvice ard .




